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Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and

emotional. This is an exampleof __. /WW%W@W GﬁT'&TﬂE
U, Saf$ asfedl &t 79 3R HIa-Td® v | fafyd fean ag G|

SaTET &

1. Gender stereotype / folar ®fgarfear
2. Gender discrimination / folaT &g

3. Gender identity /foiT GHEETAT

4. Gender sensitivity / ToiaT GdesTeferdr

Correct Answer :-

« Gender stereotype / Tol?T Sfgarfedr

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an

exampleof ./ Wﬁ@agﬁ%ma‘rmiﬂ%mﬁéﬂ?ﬁﬁﬁ
R Tgd 31 TUHT B IATEI B

1. Muller- Lyer illusion / TeR— oIl &
2. lllusion of perspective / IRET FH

3. lllusion of movement / 3T HH

4. Optical illusion / TTSC 38T

Correct Answer :-

« lllusion of perspective / TRET HHT

3) Autismis a ./ Gﬁﬁww %I
1. Attention Deficit Hyperactivity disorder/ &T-3{HId sffaafhadr faeR
2. Bipolar disorder/ aﬁ%ﬁ PR (FEuter 3E31ER)



Lenovo
Stamp

Lenovo
Stamp


3. Oppositional defiant disorder/ TaT&Y ﬁ?\_g AR (3rTSrersTe f3the %Q:ﬁlé'{)
4. Neuro development disorder. / a-ZISI e [TeR

Correct Answer :-

» Neuro development disorder. / o-?3|3| IGEZLMEEIEY

4) A teacher can diagnose a child's consistent failure in school performance as: / T& ﬁl‘&’ﬁF, ﬁa:mmr
F ygdid # T T I AOR FAPAAT HT 9T @FT T & o9 T &

1. A concern needs to be escalated to higher management / 3Td gaYT & fow ™ar & Ela'lﬁ' &r
TIIHAT &l

2. A disciplinary problem / 3{eIRMTHeTcHS HATATI

3. A learning disability or special education need / 3T 31eraFdar ar fadw forem &r
3TITSHT B

4. A need to change school /ﬁa:ql?‘l'&l' deolel T TaTShdT gl

Correct Answer :-

¢ Alearning disability or special education need / 3TTRIRTH 37T AT AW A& &r
TITHAT &l

5) Blind memorization is called . [ 39 FFAOTA (seiTss AARSAU) FgaTdl
gl

1. Recitation / ¥R Ul

2. Rote learning / I&at CART 37T

3. Meaningful learning / 3T ?fl'fj'\Usf 38T
4. Repetition / g?-lTIT:lj?I’

Correct Answer :-

« Rote learning / I&=T GEIRY 3T&TH

6) Which of the following is the correct order in lesson plan? / fFafaf@a H A Fa
UISTHA AT H TE HA 2

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W—W-FWUT -
A - T8 THIGRH
2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / QTU'IT-‘Q??:I)FCT-

Holiehel-JAYSIOT- T FHTCUT



3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ 90TI- gﬂ'q\GﬂWUT
-FeAThA-TEIT - I[E THGGUA

4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ 91—7:!}% - OROT-
Hodichel- I THICUA - JeTendel

Correct Answer :-

« Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ W-mﬁf-@m -
eI - 8 GHER

7) The method of study used by Behaviorists was: / Wm GART 9 TG Y
ugufa o

1. Survey/ TAGTOT

2. Introspection/ 3TTcHTALTETOT
3. Case study/ g Tear

4. Observation/ 3Tdcliehe]

Correct Answer :-

« Observation/ 3Tdcllehel

8) The religion to which the individual child belongs is part of the .| g Ses sgfFaara

goaT Hafld BT @ 9% & REEhe!
1. Inheritance / a'?ﬂ?:l;ﬂ?l?ﬂ

2. Prenatal environment / Wg\?:‘r qTaROT

3. Social environment / ETHATTSTH TITGLOT

4. Physical environment / Hifas gatazor

Correct Answer :-

« Social environment / AT gATAROT

9) Personality tests must be/ ﬂ'ﬁ'—dﬁ' W&&TUT o E’I?lT T'-IT%U':
1. Gender biased/ foivT gearat

2. Have as many questions as possible./ 3 O J¥F 9T arer
3. Reliable and valid / faRaei 31 a&r

4. Innovative / TATARY



Correct Answer :-

« Reliable and valid / faRa=ig 3R der
10) During the process of child development, / §=d & A&ra &1 9fhar & gha,

1. Specific functions are followed by general functions. / Taferse P, IHATT FEAT & &6 FY S0
J

2. Both general and specific functions happen simultaneously. / I#HT 3R faferse P il Th
Y g gl

3. General functions are followed by specific functions. / HIHT=T F, fafse st & a1 FY Fa
gl
4. General and Specific functions are not dependent on one another. / HIHT 3R fafdse F 7 Te-

Y WX AT T §
Correct Answer :-

» General functions are followed by specific functions. / HTHET F, fafse st & a1 FY Fa
gl

11) Dalton Plan does not have:/ 3feee ATl (STecsT Talld) A g o
1. Self-paced learning / TaF HIEaAT

2. Time table / HHI-HROT

3. Co-operation / TgANET

4. Freedom / TadFdT

Correct Answer :-

« Time table / GHAI-FROT

12) Understanding what is right and wrong forms part of the development. / H?I' ik

I i A e, T e &1 e §1
1. Cultural / W

2. Social / HTHATTTHh

3. Moral / sifcieh

4. Vocational / SITAHTRIH

Correct Answer :-

e Moral / ?\‘T?W



13) According to Maslow, which of the following needs are referred to as the Deficiency Needs? /

AT F AR, fawer smaegsanst & & 5@ FAt f naegwar F T F JET SATAT
¥

1. Belongingness, Esteem, Safety, Self-actualisation / 3911961, HTI T, QleTa:lT , m—ﬁaﬁr

2. Safety, Belongingness, Esteem, Self-actualisation / EX&TT, 39elTqeT, HIcT, 3‘“(“H'm

3. Physiological, Belongingness, Esteem, Self-actualisation / ?ﬂﬂﬁ?ﬁ, Y9I, AT AT, 3‘||(‘H-m

4. Physiological, Safety, Belongingness, Esteem / QIRI TR, GI&TT, 3TYeATeT, ATl

Correct Answer :-

« Physiological, Safety, Belongingness, Esteem / TRIR e, Y&, AY9ATeA, ATl

14) According to Erik Erikson an individual goes through developmental stages. / &

wREET & IER, UF ARG e ol § T R d
1.7
2.9
3.4

4.8

Correct Answer :-

15) How are learners who do a task with performance as the goal are characterized?/ &g &

# ugel & AT 'F FF F gt RanfiAy fr faervar w2 @2

1. They engage in work to do better than others./ & ngql T dgdR I & T FT H Holdod
g B

2. They see mistakes as an opportunity to learn/ & IATTAT I WA o 3aTH & & & ¢@d
gl

3. They want to be seen as smart and intelligent/ ¥ THATE 3R TFSER G@=T a8 £

4. They compare and judge their performance with others / a Q\Q:II'I & G 3797 Wi &r Jeldl
Fd & 3R sTF T A B

Correct Answer :-

o They see mistakes as an opportunity to learn/ g AT I @ & 37T & & H ¢@d
gl



16) A child is unable to learn a new way to play Uno because he has already learned a different set
of rules. What could be the reason for this? / Téh ST Fell Teldd & [T TH AT ddT
dEa & Iwwd § FifE a7 ged § @ srerer A @ g ¥l FHHT FAT FROT @
qhdT 8?2

1. Spontaneous recovery / Hgol gﬂ'm
2. Retroactive interference / trtm’ﬂg@’r Y
3. Proactive interference / y?ﬁmg@’r Y

4, Delayed effect / TdeIfead gHTa

Correct Answer :-

» Proactive interference / 3-1311?131@' Y

17) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall
.This approach of interpreting age by height of an individual can be attributed to a child in

/U g1 FEdT ¢ F 3THT S Y 5 BT €T §, 98 A9 I/ § 937 & GHhdT 8,
ST Faer 4 Hie oar &1 7 FfFT Y IS Y ITEAT WA F 3H TREHIOT FY
# =3 1 FFAGR sgIT 1 @FhaT gl

1. Formal operational stage / W Tih T - 3aIT
2. Sensorimotor stage / HETATCT TEUT

3. preoperational stage / q;é' AfhdlcHs 3TaET

4. Concrete operational stage / Fl(\?‘f T iohdTcHehy JTAET

Correct Answer :-

 preoperational stage / Clt\é' AfharcAs 3aTam

18) Which of the following does not negatively affect prenatal development? / faf@a & @
FT oA & 99 1 arel RAFw & TFReAs & @ wornfda 7@t wtar 8?2

1. Caffeine / FhIeT
2. Exercise / <IATH

3. Alcohol / T

4, Radiation / Tafesgor

Correct Answer :-

o Exercise / <ITATH



Which of the following is not a type of prelinguistic speech? / ffefEa & ¥ sld & R
&1 NfefFafees via ad &7

1. Cooing / fpddmT

2. Babbling / dsd3TaT

3. Telegraphic speech / Tl ther HTYOT
4. Crying / =T

Correct Answer :-

« Telegraphic speech / CollalTtheh HTYOT

20) Which of the following is an example of fine motor skill? / frafaf@a & @ =i 3chtc
AT Fhrer FT T eI §?

1. Climbing / de-l
2. Hopping / W HIAT
3. Running / EﬁgFIT
4. Writing / IGECGI

Correct Answer :-

« Writing / Tor@er

21) What is the part of memory that stores previous experience? / Wﬁ' #T gg fevar o o
HIHT P FAET FIAT §?

1. Procedural memory / BIERIREED FF[%

2. Non-declarative memory / 3R-GTYUTcaH Fil:%
3. Semantic memory / 3T ) Fﬁlﬁ-f

4. Episodic memory / ATH T3 (TTUHIT3H) Q-Tlcﬁ'

Correct Answer :-

 Episodic memory / SIFsIEICT (Uﬁ@%aﬁ) Q-T([ﬁ

22) What is the term used to denote a thinking strategy that may lead to a solution, but also may

causeerrors?/wmﬁﬁ'ﬁmm*mmmﬂmmm
¥ 3t wET & wedh 3, wiq Wt ARt o o @ €2

1. Intelligence / ﬂaﬁ'



2. Syllogism / W (FRreafae)

3. Algorithm / TealRUHA

4. Heuristic / Wﬂ'ﬁqﬁ? (Tad: Qe

Correct Answer :-

« Heuristic / wgraqﬁm (TadT: aMe)

23) What is experiential education? / HJHAIcHS foraTr & %?

1. A curriculum with well defined students learning path / Teh YTOIshH a3 g q oEl
& fAere &1 AET gk §)

2. An educational philosophy based on the idea that learning occurs through experience / Teh QIGED

eeleT 5 TaUR W TR § fob e, 3eqera & ATeIH F gl g
3. It is learning through experiments / Jdg 3-]73'3431' & ATETH 4§ 3TIH %'l

4. Learning through continuous practice / TeRd¥ 318 & 3f&aTe|

Correct Answer :-

« An educational philosophy based on the idea that lcarning occurs through experience / Ueh QIRED
gdiel 39 AR W meiRa § & 3iffers, seqsa & Areys 4 g o

24) What characteristics are depicted by permissive parenting? / Hﬂm YTelel-9IyoT GaRT
Fla-dt fadwae R g 82

1. High warmth, high control / 3=d 3cHlg, 3Td fA=or

2. High warmth, low control / 3Td 3c@Tg, oot fAz=or

3. Low warmth, high control / Gr=s 3cdlg, 37d IGEEN

4. Low warmth, low control / [o7eT 3camg, a1 fSg=or

Correct Answer :-
« High warmth, low control / 3T 3cdTg, e AI=oT

25) Who among the following does not propose a developmental theory involving stages of

development?/mﬁﬂ'ﬁ' ¥ Fas e & =IOy @ @?ﬁmﬁm S JEJd
gt fmar?

1. Freud / BIIs

2. Bandura / atg'gr



3. Piaget / TOTSY
4. Erikson / TR

Correct Answer :-

e Bandura / EI?\TI'

26) People with linguistic intelligence possess? / HIYTS gaﬁmm ¥ WY cafFaar A Hia-dt
&THaT gt &2

1. sensitivity to numerical patterns/ J&ATcH S qaf-]ﬁ & gfa Hdgereieldr

2. abilities to produce rhythms/ ST/dTel §ellel T &7

3. appreciation of the forms of musical expressions/ Tofta &1 fFcafFaar & w4t Hr
AMGeAT

4. sensitivity to the sounds, rhythms and meanings of words/ €afa¥, oIa/drel 3R ersai & 31t
& gfd ddgeTefrerar

Correct Answer :-

« sensitivity to the sounds, rhythms and meanings of words/ €afe, oIa/dlel 3R eUsal 37yt
& gfd ddgeTeierar

27) What is the main purpose of state certification of teachers? / fari Hr
TS YATOTYT &t HT HET 36627 FAT 67

1. To exclude from the profession those who are mentally unhealthy/ o AFRIP U I 3G % G%
U ¥ d18 H3 & o)

2. To exclude from the profession those not trained in pedagogy/ f&memEs #
gfATeTd A&l 8leT dlel &l 9T F 8T Il & [T |

3. To monitor the quality of teacher training institutes/ fr&Ter gfRreToT FEUT=AT Hr
I[OTaT T fAIRTAT e

4. To provide for a uniform standard of entry-level teacher competency throughout
the state/ X TT H JaAT T & N&Th JFIAT AT Teh A Hleleh Y&l e
& o

Correct Answer :-

« To provide for a uniform standard of entry-level teacher competency throughout
the state/ X T H JAA TR & R&Teh ATAAT T Teh FHATT HleAeh JeTel el
& o




28) Which of the following tests involves the analysis of stories and interpretations of the

underlying personality? / ﬁ'&lﬁl‘@ﬁ tlﬂ&-ruﬁ ﬁ' -\q' 'ﬁ”'_\qﬁ GHﬁ%H GT%IE a”ﬂ'
HIal R ARSI &1 fazawor e giar g2

1. Thematic Apperception Test / TaST 3TcAaET GLTaToT

2. Ink-Blot Test / TATGI-4saT GLI&T0T

3. Word Association Test / 2166 T8 II&T0T (35 TAITATLA <¥C)
4. Story Telling Test / Yl dIdd TRteqor

Correct Answer :-

. Thematic Apperception Test / TaST TcHSIETT TLI&TOT

29) Which of the following is correct sequence of motivation? / fFfeIRad A AT
RO HT T B 3?2

1. Drive, need , goal directed behavior, goal achievement, drive reduction / Q'U'ﬂ?(, JATAGhdT, oI&d
ERIa caagR, oeg 3qafst, goie g4

2. Need , drive reduction, goal directed behavior, goal achievement, drive / 32T chdl, guile &1,
&g ERIT SUagR, d18d 3Udisy, YUl

3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / ITdIhdT, §|'U'ﬂa', gule
&g, ol&d e fard cgqdgly, ol&d 3qditey

4. Need ,drive, goal directed behavior, goal achievement, drive reduction’/ 3TdIhdl, Q'U'ﬂ_c\", of&a
ERIT cgagR, o 39afst, yoie g4

Correct Answer :-

» Need ,drive, goal directed behavior, goal achievement, drive reduction / 3TdIhdT, Q'U'ﬂ?{, of&a
ERIT cgagR, e 39afst, yoie g4

30) Which of the following describes relevance in relation to a new topic?- / fFgfeIfaa A

P TP ¢ fauy & Yoo § urHfiedr &1 qui &ar 82

1. The perception that something is worth knowing/ AT TEIDG_EE 1)1 2 M | R %’

2. A real life situation / Ueh ATEATdeh Sitde] el T

3. A story related to the topic/ vy O Fefaa e Fglal

4. Same for all learners in any context/ et oY dee & e Renfdat & v go=

Correct Answer :-

o The perception that something is worth knowing/ 3T 033 ATl I §



Topic:- General Hindi (L1GH)

1) ueht 3R e

Y YITaH & SPA &,

St U AETeN §

TR HEISY &I o §

T Al §9 el ud ¢
R St @18 fFfgar
U, 49, urt o} ugTS
gad gl

§H ol $ad I8 ipd &
% e 3= ot =t

O O &Y gy Wordt B
3R 98 WY ga1 ¥ 4 g
gfgr) 3 gigl R fRkar &
3R TP S BT HIY
GEY o | U

PR ARAT B

ITYe UL P UgHR 1 YD WF aTd U= P I«iX gd15¢|
UR: BIA A WA & S1bd B g frad #1132

1. Shdel U&fr

2. hdel dGel

3. €AY

4. 98l 3T S1ger asr

Correct Answer :-

. ggft 3R s gt

2) Ugdl S fhed STHSRT 991 Tl fheeaR & SRR TH. T 3ERR A 1929 # gidigs #t
TS dierd e ‘i die’ 3t iR 39 1 | diad fibed a9 P 5071 ot | TR T & TS Ay
ATeH DI YR FATHI I8 U1 fFeH F) UeH YT 915 | 59 ATch & $3 M1 Ul & i ftbed # @ g
Y| TP $ey | SRR A I 9ad Hal YT-'THR UTH I Adle aWP ol UI, MadR &1 4T, Tifiaer
T2t YT 31 Ta@! weTd gL 0t SRR A fhew & T & g wad &Y ¢A T+t e & Wifta A wew
AN arer-aaen, sRAAEH 3R arafer &1 swauTa far | AT IRT # WdeR a1 MaeR # WdT
U A fodt &1 7w =18 519 | 59 fihed A ugd unae 99 S5, TH. @1 UgdT AT AT- ' S el
P 9 W WR, 3R ¢4 B apa g1’

ST T BT UgHR A1 IS TT YA BT Ik JarsC|
UH: §I8 § P G § qTe HT SR 51 82

1. grafele

2. T

3. ddell



4. gRATATH

Correct Answer :-

3) UGl Fierdt e STAaHSMRT g9 a1dt freaaR ¥ SRR TH. T SRR 7 1929 H gidiigs i
TP Jedt e ‘20 die’ 35t iR 9% 01 | diad! fived 391 3t 571 ot | IR T & ue A
ATeH B YR FATH G U FFT Bt UeH YT 15| 59 AICP & H3 T Ul & o fea A o forw
Y| TS §evog | SRR A I I HgT U1-'5UR UTH $IS Walg a@® gl o1, Masr 78 41, Siitaer
T AT 31 HaB! waATd g1 At ERR A fived & T & e T a1 yF gt | fived & wifla § wew
T arg-aaen, sRUFET R Irafed 1 sxaura farar wan e IRT # wiftaer a1 faer § @
U I fodt &1 7w =8 s19 | 59 fihed A ugd U e 99 S, TH. W | U AT AT YT- ¢ S Fal
F TN R WR, 3R 3 Pt arpd g1’

IUYE T DI UgH 14 IR T U= HT @R Iad1s¢|
UH: MTAHIIRT fhed & freaR 42

1. @Il SgTg 3GRR TH. $T=ir

2. .t et

3. TAE

4. 3¢ .UA G

Correct Answer :-

4) ygelt Sterdt fFed STAHSRT 9911 a1d fPaTaR 3 SRR ThH. T SRR A 1929 # gicligs &1
TP giad! e 20t die’ & 3R I9% 79 A e fbed 991 F1 3371 w1l | R T & TP dieiig
ATe® P ATYR FATHR I8I MU e B UeH YT I3 | 3T ATCP & B M+ w4l & i e A o forg
Y| TP ey | SRR A I 9ad Hel YT-'THR U I Adlg a9 ot oI, MaeR 71 41, Tifiaer
TR U1 31 B! AT g1 A1 ERR A fived & T & o T ot ¢ gt | fiveq & wifta & wew
A arer-aaen, sRATAEH 3R arafer &1 swawTa far | AT IRT # WdeR a1 MaeR # Wdd
U A fodt &1 7w =8 519 a1 59 fhed A ugd unae 99 S5, TH. @1 UgdT T AT- ' S el
P 9 W WR, 3R ¢4 B apa g1’

ITYe TR BT UgH 19 IR T U= HT @R gd15¢|
T: ST S fireH B UedH YT ST TUR ST UT?
1. 9T R &

2. 30 | FIg el

3.99% R &

4. REAY WIHT & Teh Al ch

Correct Answer :-

o QAT WHT & Th Ahi9T dAlcah



5) Ugd! diad! fher SMaHSRT S99 aTd fihea®R A SRR TH. I 3ISRR A 1929 H gidigs ot
TP qiad! fer 20t die’ & 3R I9% 79 A e fbed a9 F1 3371 w1l | URIA T & TP dieig
ATe® P ATUR FATHR I8i MU e B UeH YT FAT3 | 3T ATcP & B T+ w4l & i e # o forg
Y| TP $ey | SRR A 3T 9ad Hel YT-'THR U I Idle aWd ot oI, MaeR 71 4T, Tifiaer
TR U1 31 B! AT g1 A1 ERR A fived & T & fore T ot ¢ gt | fieeq & wifta & wegw
A arer-aaen, sRAATH 3R arafer &1 swawTa far | AT IRT # WideR a1 Maer # WdT
U A fodt &1 7w =g 519 a1 59 fhed A ugd unfae 99 S5, TH. @1 UgdT AT AT- ' S gl
P 9 W WR, 3R ¢4 B apa g1’

Sy TN B UgH} H OB 7T U $T SR Iargy|

T: b flber B dWh? W TeTgR SRR R0 i dierd! fhe a7 3 301 842
1. $F¢ 3% 337

2.9 T

3.51H @ I oAl

4. °TSH

Correct Answer :-

. AT §IC

6) Ugd! diad! b STEHSRT 919 aTat fheroR ¥ SRR TH. S 3ERR 7 1929 # giddigs #t
T Sied fibed 2 e’ 34t iR 3% 7 # Siadl e 14 &1 5=31 Sl | yR] " & v aeig
e Bl YR FATHT I8I 3MU-T fFeH I UeHYT IS5 | 59 AIch & P3 M- w4l & I (thed A o forg
Y| UF ey | SRR A I qad Hel YT-'g9R UTH HI§ Jargaasd Tt ol, Maer 7Y o1, Thaer
TG YT 31 aB! Jw3Td Tl At SRR 7 fhew I & g v @t g+ g+t | e & Wwfta o wegwr
A aTeI-dadn, SRAITH 3N arafer ST SIAHTA fpdT TATI STATH SMRT # WiideR a1 Maer # Wax
U I fodt &1 8 =81 s1e 47| 59 fihed O Uge TS 9 s, UH. W | Ul AT UT- ¢ S el
F 7 W WR, 3R 31 &I ared g1’

ST T BT UgHR A1 TS TT YA BT Ik Jaisq|
W: gt diadl fhed 82

1. JTSTHIRT

2. ar dram ST

3.3H ¥ HIg LT

4. 7o gRedg

Correct Answer :-

7) Ugeh Sierdt fhed ek a9 a1d fFeaR A SRR T, S| 3ERR 3 1929 # gidigs #t
TP qiad! feer 2t die’ & 3R 3% 79 A e fibed 991 $t 3071 Wl TR [He & U aeig
ATCH B YR FATHI I8 U1 fFeH P UeH YT 915 | 59 ATch & Ps M1 Ul & i fthed A & g
Y| TH $evy H SRR A I 9ad Hel YT-'§HR U B Jdle AP et ol, Maer 71 o1, Tfiaer
T AT 31 aB! w1 g1 A1 ERR A fived & T & e T ot ¢ gt | fived & wifta & wew



AN arer-aaen, sRAATH 3R arafer &1 swauTa far | AT IRT # WdeR a1 MaeR # WdT
U A fodt &1 7w =g 519 | 59 fhed A ugd unae 99 S5, TH. @1 YA T AT- ' S el
P 9 W WR, 3R ¢4 B apa g1’

Sy TN B UgH} HI OB 7T IR $T SR Iargy|
WR: 1 BT @ ared 82

1. AT

2. % 3R A

3.8 9§
4, 3 &Y g

Correct Answer :-

8) Ugdl! Sl fhed MawsmRT 991 aTd fireaaR 2 3iRR Th. T SERR A 1929 # gidigs #1
TP Sied fibed 2 die’ & iR 3% 7 # e fbed 791 1 5931 7t | uR) TE F v ey
AP P ATYR TATHR I8 U1 fheH B UcHUT §9TS | $H FA1eH & B8 M <4l »  fbed A @ forg
Y| UF ey # SRR A I gad Hel YT-'gHR U B3 Jdle A el oT, Maer 7Y o1, Thaer
T AT 31 Ha@! e g1 At ERR A fiver & A & e Tad 1 ¢ gt | fivew & wifla ¥ wew
A aTe-daa, SRAATH 3R araferd o1 sxauTa faar a1 e RT # TifideR a1 fiaer # Wax
U I fdt &1 0 =81 ST1e 411 59 fihed § ugd ura® 99§, TH. W | Sl AT UT- ¢ S el
F 9 W WR, 3FR ¢4 B daidpd g1’

ST T DI UgdR -1 TS T Y BT I} Ja1sC|
w: e &1 e 2rsg 32

1. gafa

2. 30

3. 9%

N

4. AT

Correct Answer :-

9) UGt Fierdt fher ATAHSMRT F9M aTat fFeAPR U SRR TH. T SRR 7 1929 H Ficligs B
TP qiedl fibed 2 die’ 3 iR 3% W4 # e fbed a9 &t 531 it | uRfY Tviw & v iy
ATCH B YR FATHI I U1 fFeH P UeH YT 915 | 5T ATch P Ps M Ul & & ftbed A @ g
Y| TH $evy H SRR A I 9ad Hel YT-'§HR U I Jdlg aWd ot oT, MaerR 781 41, Tfiaer
T AT 31 HaB! FwATd g1 At ERR A fived & T & e Tad ot ¢ gt | fived & wifla § wew
AN arer-dadn, sREATH 3R araferd &1 sxauTa forar T e IRT # TiiideR a1 Maer # wWax
¥u 9 foelt &1 7w 1) 310 M| 59 e | uge urrae §9 SS9, TH. W | UgAT T AT- 'S & Gl
F 9 R WR, 3R ¢4 F ardpd g1’

IUE T BT UgH -9 IR T U HT @R Iad1s¢|
u=: e &1 warn wreg 82



1. BIHT
2. st
3. e
4. Tarm

Correct Answer :-

10) gl diad! fihed STAHSRT 9 a1dt freraR A SRR T, R 3ERR 7 1929 # gicligs ot
TS diad! firer 2 die’ T ol 399 14 A Siad! fivew a9 Y g1 it Ut S & e aefig
ATe® P ATYR FATHR I814 U e B UeH YT §9T5 | 3T ATcP & B T Ul & ) frea # o forg
Y| TP S B SRR A 39 994 Hgl 4T-'§HAR U I Hdlg aWP gl o, Maer 7 41, Siiaer
T AT 39 FaB! FHaATd g A SRR 7 fived & T & e w@d ot 4= Tt fived & i & wew
T arer-aaan, sRWATY 3R arafeq &1 swaTa farar man sram o1 ® wifider a1 faer § w@ds
U & et o1 7 g s1en Wt 59 fhew ® g us e 99 S, TH. @ | Ug T AT- 'S ¢ gal
F 9H R WR, 3R ¢4 $t ardpa g1’

ITYe TR BT UgHR 14 IR T U= HT S«iX gd15¢|
WRA: ‘Tedyr fry faur & wwEfia 2

1. 3T

2. QAT

3. dAlcehT

4. heH

Correct Answer :-

. e

11) Ugel dierd! fhed STEHIIRT S aTel fhereR A 3ERR T, 1 SRR 7 1929 # giefigs Ft
T Sied fibed 2 die’ & 3R 7% 79 # e fbed 791 1 5931 71t | U TviE & v ey
e Bl YR FATHI 381 U1 fFeH FY UeH YT 915 | 5T ATch & $3 T w4l & i ftbed # @ g
Y| U ey # 3ERR A I gad Hel YT-'gHR UTH B Jdle A et ol, Maer 7Y o1, Thaer
G YT 31 Ta@! Jw3Td gL 0t SRR A fhew & T & g wad #Y ¢A g+t v & Wfta A wew
AN arer-aaen, sRAAEH 3R arafer &1 gwauTa far a1 AT IRT # WideR a1 Maer # WdT
U I fodt &1 1w =g s19 | 59 fihed o ugd unsae 99 S5, TH. @M1 YA T YT- ¢ S el
F 9 W WR, 3R ¢4 B apa g1’

ST TR DI UgHR -1 TS TT YA BT IR Jarsq|
2 freeR T f5d v 9 71 32

1. HR

2. 3HR

3.5H ¥ I ol

4. oA



Correct Answer :-

12) Ugd! iad! fbed SMawseRT s ard fireaaR A 36K TH. ST 3I3RR 7 1929 H gidigs ot

TP §iad! fber 2t die’ & 3R I9% 79 A Fiae fibed 9911 B 3371 o1l | YR T & TP dip g
TP B YR TATHR I8 U fheH P} UCHYT T1E | 59 AICP & Hs A w4l & & fbed A & forw
Y| TP S B SGIRR A 39 994 Fgl 4T-'§HR U I3 Hdlg aWGP gl JT, MapR T 41, Siiaer

TR AT 31 aB! AT g1 A1 ERR A fived & T & e T ot ¢ gt | fiveq & wifta & wew

AN arer-daan, sRWATH 3R araferd &1 sxauTa frar a1 e 3RT # TiiideR a1 Maer # wWax

U & et o1 7 g s1en Tt 59 fhew | g us e §9 S, TH. @ | Ug T AT- 'S ¢ gal

F 9 W WR, 3FR 4 B apa g !’

ITYE TR BT UgHR 19 IR T U= HT S«iX gd15¢|
= "nTae {59 wed 82

1. 395 ¥ HIs Ta1|

2.3 9 & fow amar §

3.3 9¢ & W T gl

4.3 9¢ & 9IS & 0T gl

Correct Answer :-

o ST 9 & S & e §l

13) Ugdl Siad! fhed SMEWSRT 891 aTdt fleradR A SGRR THISITT | 3GRR A 1929 H gidigs ot

T Siedl fibed ‘20 e’ 3 iR 3% 7 # Sieral e g1 &) sea1 o1l | TR T & TP Ap g
e Bl YR FATHI 381 U1 fFeH F) UeH YT 915 | 5T ATcd & $3 T+ w4l & i fbed # @ g
Y| U ey # SRR A I 9ad Hel YT-'gHR UTH B Jale aasd et ol, Masr 7Y o1, Thaer

TG T 31 Ta@! w3Td gL 0t SRR A frew & T & g wad #Y ¢A T+t v & Wifta & wew

T aTeI-dad, TRATH 3R arafed ST SaHTd fRaT AT AT 3RT # TiaeR a1 Maer # Wax

U I fodt &1 1w =8 s19 | 59 fihed o ugd unsae 99 S5, TH. @M1 UgdT T AT- ¢ S el

F 9 W WR, 3R ¢4 B apa g1’

ST TR DI UgHR A1 TS TT Y BT Ik Jarsq|
WRA: ‘d9ar fa T &7 g 82

1. R&r &1

2. TEH &I

3. ThT

4. 3RS~ BIET T

Correct Answer :-

o 3REl- BREAT &



14) gl Siad! fihed STAHSRT 9 a1dt freraR A SRR TH. R 3ERR 7 1929 # giciigs ot

TP died fibed 2 die’ 3 8iR 3% 11 # e fbed a9 &t 531 it | uRf} Tiw & v ey
ATCH B YR FATHY I8 U1 fheH P UeH YT 915 | 59 ATch & Ps M1 Ul & i ftbed A @ g
Y| TH $eXy H SRR A I 9ad Hel YT-'§HUR U I Jdlg AW ot oT, Maer 781 o1, Tifiaer

T AT 31 HaB! FwATd g1 At ERR A fived & T & e Tad ot ¢ gt | fived & wifta & wew

A arer-aaen, gRATEH 3R arafer &1 swaHTa fhar | AT IRT # WideR a1 MaeR # Wda

U I fodt &1 7w =8 sT19 | 59 fihed A ugd U TS 99 S, TH. W | U1 T UT- ¢ S Fal

F 9H R WR, 3R ¢4 $ ardpd g1’

ITYa TR BT UgHR 1Y ID T YR BT Ik qa1g¢|
W=A: ‘glaigs’ fired gidl &2

1. AT & &=t hed

2. T98R # &t Whed

3. gloiigs A wel fhod

4. olehdl H oAl heH

Correct Answer :-

15) Ugd! Siad! e SMeHeRT s aTd freaaR A S6RR TH. ST SIGRR 7 1929 # gidlgs ot
TP qiad! e 20t die’ el 3R I9% 74 A Sierdl fiher a1 ®1 3371 o | yRA T & TP dipig
I DI SATYR TR I514 U fher B} Ueh Yl a-1g | 59 Hich & Bs T o4 & o fibed 7 & g
Y| TP ey | SERR A 3 gad Hel YT-'THUR UTH BIg Idlg aWP ol I, MAPR 81 JT, TadR
TR AT 31 HaB! FHaATd g1 Al ERR A fived & T & g wad ot ¢ g+t | fieeq & wifta § wewt
A arer-aaen, sRATEH 3R arafer 1 gt fRar T SMETH ST # WideR a1 fMdeR A WdT
U A fodt &1 78 =81 s1e 47| 59 fihed Aued UFTe 91 SS9, UH. W1 Ugdl T AT- 'S S Jal
F 9H R WR, 3R ¢4 9! aidpd g1’

ITYe TR BT Ugh 19 IR T U= HT S«R gd13¢|
= i v R -

1. JE3TT

2. gl

3. facel

4. dcdHA

Correct Answer :-

16) Ugd! Siad! fhed SMEWSRT ST aTd fiheaaR A SRR TH. 3T 3ERR 7 1929 ¥ gidigs ot
TP Sied fibed 2 die’ 3 3R 3% 7 # e fbed 791 1 5=31 7t | uRfY TiE & v ey
ATCH B SMMYR FATHY I8 U1 fFeH P UeH YT TS | 5H ATeH P Ps T Ul & & fhed A o fow
Y| UF ey # SRR A I 9ad HeT YT-'gHR U I3 Jalg A el oT, Maer 7Y o1, Thaer
T AT 31 HaB! TweTd g At SRR A fived & T & e ad a1 ¢ gt | v & wifla ¥ wew
W aTeI-daa, SRATH 3R araferd ®1 SaHTd fRaT 11 AT 3RT # TiaeR a1 Maer # Wax



U A fodt &1 7w =8 519 | 59 fhed A ugd unae 99 S5, TH. @1 UEdT AT AT- ' S gl
F 9 W WR, 3R 4 B aIpa g1’

IUYa TR B UgHR A YD T U= $T Ik 9d13¢|
U FRAE fHad gt 82

1. 9ol I

2. Teh YehX &7 T

3. a6y wfid

4. 3R q Fg LN

Correct Answer :-

oferat Y giat o fawar §

R wF o1 FT AT

qE & 7 uredt

FAFHT e §

39T YGIIT T YGHF A & S gl T FT 3ca} qaqmsv|
GeeT: HITATT & ST Fal d&F o & ?

1. 348 H PS5 Al

2. 3711l § UTdTel dsh

3. U HGIGA & WY HETeRl dh

4.Th T ¥ @Y B T

Correct Answer :-

« T HEGY ¥ GEY AU s

18) uaft 3R s
¥ yEraT F ST §
St UF HAFISY ¥



gAY AEY A T §

A wHST AdT 9T §
IR 3 o Refsar
T g

&7 a 9o IE A &
& w3 A AT

gEY AU F ey AT F
3R g @ler gar A RA go
gferal & giEt o e §
IR wF o1 FT AT

q@Y aur # gl
FeT e B

39YFA TSI T YGHT Al G I a1 WA FT 3ca] TASTI
Ue: AT & SRS FAT ol § ?

1. RIsdr

2. quT

3. gdr

4. dr

Correct Answer :-

&7 oY Fae Ig Hd &
& T T Y A

gAY AU Y ey AT F
3R a7 aler gar A KA go
gferat #r oiEt W fawer §
3R e U FT W

q@Y aur # gl

FaART Rar 21

39YFA ISHY T YGHT Al & I a1 WA FT 3ca TASTI
wea: giel, 93, 9 # FiT AT HAFR &7

1. JHS

2. HJUTH

3. ¥4



4, Y

Correct Answer :-

& o Fad g HFha &
& uF U i el

qEY AU F ey AT §
3R a7 ket ga1 A R
gfert i gEt | RAr
IR wF gar & HIT

g@Y qur # gt
FaHT R 21

3YYFA ISHIT FT YGHT Al G I I WA FT 3cad TARTI
veeT: wRer &1 gAigarh Sia ar § 2

1. 0T

2. 91

3. g

4. GRAS

Correct Answer :-

&7 d Fae Ig hd &
& uF U i el
qEY & F G Aol A
3R a7 @Rt gaT A R
gferat v i@t 9w faRar
IR wF gar & HIT



gE & # Ot
T et §

39T YGIIT Y YGHF A & AW qTel G FT 3ca} qaqrsv|
9l ‘UgIS’ T YA AS § ?

1. e

2. 3R

3. 7R

4. qad

Correct Answer :-

3YYFA ISHY T YGHT AT qF S a1 WA FT 3ca TARTI
9eeT: ‘Iihel’ W FAT A9 & ?

1. 3T AT ST

2. 3T SITer

3. 39 fe@re

4. 317 IS N

Correct Answer :-



gAY AEIAY A T §

A Y WHST G 9T §
IR 3ah o Refsar
T g

&7 a 9o Ig A &
& w3 A AT

gAY AU 1 ey AT §
3R a7 aler ga1 A R gO
gferat & giEt o e §
R wF v FT AT

q@Y aur # gl

TAFT FORar B

39YFA IGHY T YGHT Al G e a1 WA FT 3ca] TASTI
veeT: Rafsal & wla araar & 2

1. shael greAl

2. %hddl U3

3. %ad qier

4. 39T el

Correct Answer :-

o 3Wiad T

&7 oY Fae Ig ’Hd &
F T T Y A

gAY AU F ey AT F
3t a7 alker gar # R go
oferat #r oiEt W fawer §
3R e U FT o

q@Y aur # gl

FaART Rar B

39YFA IGHY Y YGHT Al & e a1 WA FT 3ca] TASTI
TR TF & HT AT AT U # 4T aF FX far § 2
1. garer
2. 9T @

3.gdl



4, 9TaT

Correct Answer :-

&7 oY Fae Ig Hd &
& uF U i

qaY AU F ey AT §
3 ag wiver gar # R
gferat $r giEl 9 faRar
3R e g FT W

g@Y qur # gt
FaHY R #1

3YYFA TSI FT YGHT Al G I I WA FT 3cad TARTI
T dIgel T YAIIArET ¢ 2

1. &I

2. Setsl

3. A9

4, GRHA

Correct Answer :-

&7 d Fae Ig Hd &
& wF U i
GEY 3 FY G Ao A
3 ag wiver gar # R
gferat Y giEt 9 fawar
3R e U FT W



qEY & # e
FAHT frar #

39T YGIIT Y YGHF A & AW qTel G FT 3ca} qaqmsv|

Yo TE YoYU TH AU F qE qU fFAS g@arr gguns Sl § 2
1.8 & H1T & aRT

2. 91T & &aNT

3. 7T ST

4. gTETET & 9@l & SarT

Correct Answer :-

« Ul & 9@ & ganT

3YYFA TSI T YGHT AT qF S a1 WA FT 3o TARTI
9ol ‘9%’ T qATgar § ?

1. Joord

2. GT&TT

3. 91c9

4. 987

Correct Answer :-



gAY AEAY Y T F

A a wHST ¢ 9T §
IR 3a o Refsar
T §

& a 9 Ig A &
& w3 A AT

gAY AU F ey AT §
3R a7 aler gar A RA go
uferat #r giEt AR §
IR wF o1 FT AT

q@Y aur # gl
FaeT e B

39YFA ISGHY T YGHT Al & I aTd WA FT 3cal TASTI
weeT: ‘gAY e A FieT Ar folr 82

1. gicelar

2. 39 H PG QT

3. A98 ferar

4. ST

Correct Answer :-

29) usaft 3k e

¥ s & S

St UF HAFIGY ¥

GEY AERY F AT §

g o |AS AP 9 B
AR 36 A Refear
Traa £

&9 A ad I Aiea &
F uF o Y et

gAY AU F gy AT §
3R a7 aler ga1 A R gw
yferal & grEt o fawar §
IR wF o1 FT AT

q@Y qur # gl
TAFT T B

39AFA ISHY Y YGHT Al & I aTd WA FT 3ca] TASTI
WoeT: WA Hiaar 1 adE ofidw § 2
1. 391dTT & Sy

2. HITATeT &l Gec2l

3.3 § HIg A6



4, g&fr 3R S

Correct Answer :-

o HITGATT & ST

A o Fad g HFa &
& T U i et

qEY & A gery Aorelr g
3 g7 aler gar & R
gferat Y giEt 9 fawar
3R e U FT W

qaY AU 7 uredr
FAFT et B

3YYFA TSI FT YGHT Al G I I WA FT 3cad TARTI
eeT: draeT &1 WY § ?
1. 9GHT FeATell

2. [Som=r

3. Hiepar

4, [SfSerar

Correct Answer :-

Topic:- General English(L2GE)

1) Complete the sentence with the suitable pronouns.

Rita completed project by .

1. her, herself
2. each, itself
3. its, itself

4. his, them



Correct Answer :-

« her, herself

2) Read the poem carefully and answer the question given below:

Unusual Thought

I think of a goat, but look at a ram,
I think of a coat, but look at a fan...
Oh!! I think so many thoughts...

This, that and.... what not!!!

A cow cannot grow into a bull,
Nor a coat into a fan,
A goat transforming into a ram?

Horror!! Oh man....

But, in my mind, all this I find
Going on in an imaginary land;
I'm sorry, it’s all my own,

But, what I saw, say, I can...

Do you want room in this land?
Your mind is your transport

Count on it. It will show you around. IT CAN!!

Don't think. Just look, look, look.
Play with your mind,

DO WHAT YOU WANT TO DO.

The antonym of “transforming” is:
1. Reforming

2. Changing



3. Converting

4, Remaining

Correct Answer :-

« Remaining

3) Read the poem carefully and answer the question given below:

Unusual Thought

I think of a goat, but look at a ram,
I think of a coat, but look at a fan...
Oh!! I think so many thoughts...

This, that and.... what not!!!

A cow cannot grow into a bull,
Nor a coat into a fan,
A goat transforming into a ram?

Horror!! Oh man....

But, in my mind, all this I find
Going on in an imaginary land;
I'm sorry, it's all my own,

But, what I saw, say, I can...

Do you want room in this land?
Your mind is your transport

Count on it. It will show you around. IT CAN!!
Don’t think. Just look, look, look.
Play with your mind,

DO WHAT YOU WANT TO DO.

The meaning of the word “room” in the second last stanza is



1. a house
2. to walk
3. an amount of free space

4. a chamber

Correct Answer :-

« an amount of free space

4) Read the poem carefully and answer the question given below:

Unusual thought

I think of a goat, but look at a ram,
I think of a coat, but look at a fan...
Oh!! I think so many thoughts...

This, that and.... what not!!!

A cow cannot grow into a bull,
Nor a coat into a fan,
A goat transforming into a ram?

Horror!! Oh man....

But, in my mind, all this I find
Going on in an imaginary land;
I'm sorry, it's all my own,

But, what I saw, say, I can...

Do you want room in this land?
Your mind is your transport

Count on it. It will show you around. IT CAN!!

Don’t think. Just look, look, look.
Play with your mind,

DO WHAT YOU WANT TO DO.



The first line of the last stanza, the figure of speech, has been used.

1. repetition
2. metaphor
3. onomatopoeia

4, alliteration

Correct Answer :-

« repetition

5) Read the poem carefully and answer the question given below:

Unusual thought

I think of a goat, but look at a ram,
I think of a coat, but look at a fan...
Oh!! I think so many thoughts...

This, that and.... what not!!!

A cow cannot grow into a bull,
Nor a coat into a fan,
A goat transforming into a ram?

Horror!! Oh man....

But, in my mind, all this I find
Going on in an imaginary land;
I'm sorry, it's all my own,

But, what I saw, say, I can...
Do you want room in this land?
Your mind is your transport

Count on it. It will show you around. IT CAN!!

Don’t think. Just look, look, look.



Play with your mind,

DO WHAT YOU WANT TO DO.

What is so unusual about this poem?

1. The number of words used in each stanza
2. The use of all 26 letters of the alphabet.
3. The structure and form.

4, The absence of the letter “e”.

Correct Answer :-

« The absence of the letter “e”.

6) Read the content carefully and answer the questions given below it:

In India, the Archaeological Survey of India (ASI) maintains, repairs and preserves our
historical monuments. UNESCO (United Nations Educational, Scientific and Cultural
Organization) has recognized certain world heritage sites in India and has arranged for some
special funds for the maintenance of these sites. 18th April is celebrated as world heritage day.
The Golden temple, also known as Harmandir Sahib in Amritsar is a religious place of Sikhs. It is
situated in Amritsar. Thousands of devotees visit this temple every day. Guru Arjun Dev Ji got
this temple completed in 1601 under his supervision. This temple is beautified with marble
sculptures and golden carvings. It is built on a square platform in the centre of a sarovar.

Harmandir Sahib is the other name for:

1. Sun Temple
2. Golden Temple
3. Lotus Temple

4. Cave Temple

Correct Answer :-

¢ Golden Temple

7) Read the content carefully and answer the questions given below it:

In India, the Archaeological Survey of India (ASI) maintains, repairs and preserves our
historical monuments. UNESCO (United Nations Educational, Scientific and Cultural
Organization) has recognized certain world heritage sites in India and has arranged for some
special funds for the maintenance of these sites. 18th April is celebrated as world heritage day.
The Golden temple, also known as Harmandir Sahib in Amritsar is a religious place of Sikhs. It is
situated in Amritsar. Thousands of devotees visit this temple every day. Guru Arjun Dev Ji got



this temple completed in 1601 under his supervision. This temple is beautified with marble
sculptures and golden carvings. It is built on a square platform in the centre of a sarovar.

When is World Heritage Day?
1. 18th April

2. 15t May

3. 1Y June

4. 1 April

Correct Answer :-

. 18t April

8) Read the content carefully and answer the questions given below it:

In India, the Archaeological Survey of India (ASI) maintains, repairs and preserves our
historical monuments. UNESCO (United Nations Educational, Scientific and Cultural
Organization) has recognized certain world heritage sites in India and has arranged for some
special funds for the maintenance of these sites. 18th April is celebrated as world heritage day.
The Golden temple, also known as Harmandir Sahib in Amritsar is a religious place of Sikhs. It is
situated in Amritsar. Thousands of devotees visit this temple every day. Guru Arjun Dev Ji got
this temple completed in 1601 under his supervision. This temple is beautified with marble
sculptures and golden carvings. It is built on a square platform.in the centre of a sarovar.

The specialty of Amritsar is that it is beautified with
1. marble sculptures and golden carvings

2. sandstones

3. marble sculptures

4, diamonds

Correct Answer :-

« marble sculptures and golden carvings

9) Read the content carefully and answer the questions given below it:

In India, the Archaeological Survey of India (ASI) maintains, repairs and preserves our
historical monuments. UNESCO (United Nations Educational, Scientific and Cultural
Organization) has recognized certain world heritage sites in India and has arranged for some
special funds for the maintenance of these sites. 18th April is celebrated as world heritage day.
The Golden temple, also known as Harmandir Sahib in Amritsar is a religious place of Sikhs. It is
situated in Amritsar. Thousands of devotees visit this temple every day. Guru Arjun Dev Ji got



this temple completed in 1601 under his supervision. This temple is beautified with marble
sculptures and golden carvings. It is built on a square platform in the centre of a sarovar.

What is the responsibility of the Archaeological Survey of India (ASI)?
1. To do research on historical monuments

2. None of the above

3. To maintain, repair and preserve historical monuments

4. To visit historical places

Correct Answer :-

» To maintain, repair and preserve historical monuments

10) Choose the appropriate conjunction for the given sentence.

Kohli has put stress on fitness every player knows the consequence of not being fit.

1. but

2. and

3. though
4, because

Correct Answer :-

o and

11) Read the sentence carefully and choose the option that has an error in it:

It will be difficult to arrange payment in such short notice.

1. to arrange payment
2. It will be difficult
3. No error

4, in such short notice

Correct Answer :-

¢ in such short notice



12) Fill in the blank with the correct option in the given sentence:

The survey showed that the participants found the whole experience
1. enriching

2. enriched

3. reaching

4. enrichment

Correct Answer :-

« enriching

13) Fill in the blank with the most appropriate preposition in the given sentence.

I come from a small place Bangalore.
1. upon

2.0n

3.1in

4. near

Correct Answer :-

14) Fill in the blank with the appropriate prefix in the given sentence:

We broke up because he --understood me.

1. dis--
2. re--
3. mis --

4. un--

Correct Answer :-

15) Choose appropriate articles for the given sentence:



Itwas  cold morning, but  group was heading to ___ colder region.
1. the, the, no article required

2. a, no article required, the

3.a,the, a

4. no article required, a, the

Correct Answer :-

e a,the, a

16) Choose the appropriate prepositions for the given sentence:

My cousin generally lives Bengaluru, but now he has moved _ Chennai.
1. at, from

2. from, for

3. for, in

4. in, to

Correct Answer :-

17) Choose the right tag:

"~

I speak English fluently,
1.don't I

2.do 1

3.didn't I

4. haven't I

Correct Answer :-
« don't1l

18) Change the given statement to indirect speech.
They said, "We play football in the playground every day.”

1. They said that we play football in the playground every day.



2. They said that they play football in the playground every day.
3. They said that they will play football in the playground every day.
4. They said that they played football in the playground every day.

Correct Answer :-

« They said that they played football in the playground every day.

19) Choose the appropriate antonym for the highlighted word in the given sentence.

The restaurant has a rustic charm that reminds me of my grandmother’s village.

1. Orthodox
2. Rural
3. Sophisticated

4, Pristine

Correct Answer :-
« Sophisticated

20) Choose the appropriate suffix to fill in the blank.

His advoc-- of violence won him few supporters.

1. --acy
2. --ate
3. --ates
4. --ice

Correct Answer :-

21) Choose the appropriate option that rewrites the given sentence in its active voice.
The patient was advised by the doctor not to eat rice.

1. The doctor advised the patient not to eat rice.
2. The patient is advised by the doctor not to be eating rice.
3. The doctor had advised the patient not to eat rice.

4. The doctor will advise the patient to eat rice.



Correct Answer :-

« The doctor advised the patient not to eat rice.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Shruti usually to Goa every other month.
1. is going

2. goes

3. has gone

4. went

Correct Answer :-

23) Choose the appropriate synonym for the highlighted word in the given sentence.

At the age of 15, Einstein felt so stifled in school that he gave up schooling for good.

1. Breathless
2. Grew stiff
3. Became tensed

4, Suffocated

Correct Answer :-
« Suffocated

24) Choose an appropriate modal for the given sentence:

If he started an hour ago, he here soon.
1. ought to be
2. would

3. must

4, shall be

Correct Answer :-

e oughtto be



25) Choose the most appropriate articles in the given sentence.

My mother is dentist and my father is economist

l.a,a
2.4, an
3.an,a

4. no article, a

Correct Answer :-

26) Choose the option that substitutes the phrase appropriately.

An event causing sudden damage or suffering

1. Apostrophe
2. Catastrophe
3. Philanthropy

4. Philosophy

Correct Answer :-

« Catastrophe

27) Choose the option that best explains the highlighted expression:
He was a king who ruled his subjects with a high hand.

1. Oppressively

2. Sympathetically

3. Democratically

4. Kindly

Correct Answer :-

o Oppressively

28) Choose the option that best explains the highlighted expression:

The sight of the gory accident made her flesh creep.



1. She had an allergy to creepers

2. There were lots of insects around the place
3. Was very worried and frightened

4. Her flesh was creeping about at the sight

Correct Answer :-

« Was very worried and frightened

29) Choose the option that best combines the given sentences.

He is a cripple. He cannot ride a horse.

1. Being a cripple, he cannot ride a horse.
2. He cannot ride a horse he is a cripple.
3. Crippling, he cannot ride a horse.

4. He is crippling because he cannot ride a horse

Correct Answer :-

« Being a cripple, he cannot ride a horse.

30) Choose the option that best transforms,the sentence into.its Indirect form:

“Stop talking!” the teacher said to the class.

1. The order to stop talking was given by the teacher to the students.
2. The teacher said to the class to stop talking.
3. The teacher ordered the class to stop talking.

4. The teacher was saying to the class to stop talking.

Correct Answer :-

« The teacher ordered the class to stop talking.

Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye,
then the power of the corrective lens should be: /



If F1§ safaa wwel g § 5 A F 30w g W Bua v avg # @ #
HeTH A8l g, af e oW Y afFa g =g

1.-0.2D
2.5D
3.-0.5D
4.2D

Correct Answer :-

« -0.2D

2) What is roughage? / T&TIeT AT @1 &7
1. Vegetables / Gfeorar

2. Grains / 3TeToT

3. Fruits / el

4. Food fibre / XM SfTS

Correct Answer :-

« Food fibre / XRI& 3

3) What is the principle behind the ball bearing? /
gia e § NS Fa1 Rgua &2
1. Sliding friction is greater than the static friction. VAL CE EI'@i'UT, fas g I 30w %’I

2. Rolling friction is greater than the sliding friction. / TTeldT gyur fhgee arel gyuT §
31fe giar gl

3. Rolling friction is less than the sliding friction./?lia'al g9uT fhgcley arel YT & &H €I<'-|I
gl

4. Friction increases the speed of rotation. / ENUT & AT HT 1fa §¢ AT &l
Correct Answer :-

» Rolling friction is less than the sliding friction. / Tfelal gyuT fhgelel dTel OYUT & e €|<'-|I
gl

4) What are the crops grown during the rabi season? /

o #Algw & gl Fia @ v FE S 2



1. Blackgram and soya bean / &Tel Tt IR @ A
2. Wheat and mustard /?ﬂﬁu 3R war

3. Maize and pigeon pea / #&ahT 3T 3R

4. Paddy and cotton / €TeT IR FuE

Correct Answer :-

+ Wheat and mustard /'ﬂﬁu 3R gzar

5) Sickle cell anaemia is a disease that is i

g RIS IFaar vF A F S gt 21

1. infectious / HshIH®

2. developed through vectors / J3TdTgHh & ATEIH & fafad
3. inherited / W

4, non infectious / I THTHS

Correct Answer :-

« inherited / 37IIdTRIh

6) Stainless steel vessels are provided withicopper bottoms because: /

T&To T TT & Il did & YR & 1T U I § FAfF:

1. It gives a good appearance to the vessel / Ig SdeT &l 31T fe@rdr gl

2. Stainless steel is a better conductor than copper/{-Eo-Io\N-l e, e T defetl H §I6d{
Hags gl

3. Copper is a better conductor than stainless steel / PR, TeAT Tl HI Jelel H 98K
Hags gl

4. Copper expands more than stainless steel/dwThI{, LTl TSl T 3T9&TT 3118 hodr

gl

Correct Answer :-

» Copper is a better conductor than stainless steel / IR, TSIl T &I Jeledl H dgR
HaTgsh &l

7) When a light undergoes reflection, the velocity of the reflected light is always: /



9 U YT gfafT @ e g, fafRa ywer #1 a9 @i I o ¢
1. Less than the velocity of the incident Iight/mﬁ ehI & dT F A

2. Equal to the velocity of the incident light / 3Tafdd Jehrer & dd1 & FHT

3. Greater than the velocity of the incident light / 3Tafdd Jeprer & 491 I3+

4, Depending on the material of the reflecting surface / gfafsfed adg & ggrd W AR
AT §

Correct Answer :-

« Equal to the velocity of the incident light / 3Tafdd Tehrer & a9 & AT

8) Select the correct unit of energy in terms of the unit of current. /

fega # s & wal & Fa1 At W FHE F1 TAT T

1. VAs
2. VAZs
3. V2As

4. VAs?

Correct Answer :-

e VAs

9) Which of the following is not the unit of work? /
fArfaf@a & @ 71 F13 it 5o 78 B

1. Newton metre / #gcel HreX

2. Joule/Gj\Tvr

3.Erg/ T

4. Joule/second / Gljf/@%

Correct Answer :-

« Joule/second / S[d/ddS

10) Electroscope is a device used to: /

SAFCITHIT IYHIOT ST 3G o faw frar srar §:



1. Test the conductivity of a material /

Ush TTHIT HI ATelehdl T GUETIT Fld & ol

2. Measure the current in an electrical circuit /

faega aRoy & arr @1 A & fav

3. Measure the voltage across an electrical appliance /
Teh fdegd 3UoT R # dicdst A A & fow
4. Detect the presence of electric charge on a charged body /

Teh AT A 9 faegd 3maer v 39feufa &1 9a1 oeme & fou

Correct Answer :-

» Detect the presence of electric charge on a charged body /

Teh AR A 9 faegd 3maer v 3ufeufa &1 ga1 oem & fau

11) Earthquakes can never cause: /

HFT & FROT FA ot 77 7t B A

1. Lightning and thunder / dfsd 3R Aeareie
2. Tsunami / lflfl'l?:ﬂ'

3. Landslides / 8[¥@elsT

4. Flood /dTg

Correct Answer :-

« Lightning and thunder / df3d 3R Feere

12) As mass is related to beam balance, the temperature is related to: /

o R geaae d W & HEftd @ar §, 3@ 9ER arEe & defta @
1. Kelvin / hieds

2. Barometer / SRIHEY

3. Thermometer / YHATHE

4, Heat / AT

Correct Answer :-

« Thermometer / THATHICT



13) The correct statement among the following is: / A& & ¥ WE FU §:

1. Dry ammonia has no effect on litmus paper / IS AT #T foed T IR W Fig IHT
sTel gsdr

2. Curd is basic in composition / ger TASTT H &I %’

3. Solution of glucose in water is acidic / 9Teil & doj\ch\ld FI AerdeT 37T &

4. HCl is a weak acid / HCl Teh goiel 31FeT §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / ASh 3AAAT &7 foeHad IR WX El'ﬂé' IJHTT
SHICES])

14) The amount of heat produced in a metal wire depends on the: /
TF 4T & dX A Seurfed FSAT F ATr e w AR w @
1. Atmospheric pressure / a'l'ﬂﬂﬂg?»h?:l' ald

2. Atmospheric humidity / W TS

3. Atmospheric temperature / aTg?:IB'Eﬂ'J A9 HTeT

4. Current passing through the wire. / dREEIUAIRd &RT O

Correct Answer :-

« Current passing through the wire. / dX & Ydlflgd &RT T

15) Sugar can be extracted from its aqueous solution by: /

At FF 3EF TeT O ¥ 37 A garr Aswia A s aFar &
1. Chromatography / ShIHCIITHT

2. Distillation / 3THdeT

3. Evaporation / aTsYTehioT

4. Filtration / feredgsT

Correct Answer :-

« Evaporation / GTSYIeoT

16) Magnitude of displacement in one second is called: /



TF AFs # g are faeurasr & qR&Amor Y e Jrar 8
1. Acceleration / caOT

2. Momentum / 371497

3. Speed / dTel

4. Force / dcT

Correct Answer :-

o Speed / dTel

17) Calculate percentage of nitrogen in ammonium sulphate. /
IAATA Fobe H AT F yfaera i aoEr F

1. 28%

2.36%

3.6.02%

4.21.2%

Correct Answer :-

e 21.2%

18) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an
oxide. What will be the correct formula of the oxide?
[Atomic masses: S =32 u, O =16u] /

FerY AR ATeFHieT WAV v FaEs T F AT gegAT @ 2:3 & Ieqara #
UF g & WY §AS g §1 IS FOHE gI T g

[TRATI] FEFHAT: S = 32 u, O = 16u]
1. $,0;

2. 30,

3.80,

4. SO;

Correct Answer :-

. SO



19) Which type of energy transformation takes place when fuel is burnt? /

$UT FAAT I W R PR FT FAT TIEI0T T 82

1. Chemical energy is converted into heat energy. / THTI A Foll, 3SHT Fof #§ gRafad
gl Sircil &

2. Chemical energy is converted into mechanical energy. / TS Foil, ATTAH Foll 3
aRafdd g S &

3. Heat energy is converted into chemical energy. / FSHIT Fail, TAAAS Fail A gRafdd
gl STl &l

4. Heat energy is converted into mechanical energy. / ZSHIT Foll, AT Fol & gRafdd &
S g

Correct Answer :-

« Chemical energy is converted into heat energy. / TATIfeleh Foll, 3SHT Fof & gRafdd
gl ST gl

20) Which one of the following will take the shape of an open container in which it is kept?

/

farafaf@a & & F1 vF gy & WA W 3HH IHR @ A2
1. Lemon juice. / F—ﬂ_sj'\ T IH|

2. Ice cubes. /| &% & ga»?l

3. Chilly powder. / &< 93|

4. Oxygen gas. / 3fTagIel IH|

Correct Answer :-

« Lemon juice. / Fﬁi{\ﬂ |

21) Which of the following is weed. /
frafaf@a # ¥ F7 @gaar &
1. Xanthium only / Hael SITATH

2. All the above / 3URIad T8

3. Grass only / shdel ©TH

4. Parthenium only / shael ardffazs

Correct Answer :-



« All the above / 3WRIad T

22) Which is a set of transparent material? /

ureelt @l &1 v AT Hia-ar §?

1. Water and air / 9T 3R gar

2. Turmeric powder and water / ool 9138 3R g
3. Alum and water / el 3R oTelT

4. Charcoal and water / TRehIel 3 TTeir

Correct Answer :-

« Water and air / 9r=ir 3R gar

23) One of the statements made about the formation of soil is inappropriate. Identify the
same. /

fredt & fior & aR # Re 7w Fya A ¥ oF IgRa B 3R Fua Ta ;W
1. Strong winds do not play any part in the erosion of rocks. /

ol §ATU ICCleAl & Herd H Pl fAHN TgifAemar gl

2. Fast flowing water carries big and smallawock particles and these rub against other rocks. /

ol 98T UTel), 93 3R BT Teerd ®Ul il of Sar & 3R T 37 g F WS
qr S B

3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes,

1t would widen the cracks./

AT AT & SR &l Tere & IR # Ul g STl g1 ST Gl SIH el g,
dr s8d oI =9 g S g

4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same
time, cracks are formed and rocks break up. /

IS & HIH 7 A & HROT, Icerl & g REdt 1 g@wor 7L g § 3#R AT
dR & gl e & QAT o Bl o BRUTEIN & Sl § 3R "eere ge Sl gl

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /

dSl gaTd Tl & werd # HIs AT g s




24) is used for making mirrors. /

3 T qdur S ¥ f e S #
1. Silver / @iy

2. Carbon / STeleT

3. Sodium / AIf3IH

4. Sulphur / eI

Correct Answer :-

« Silver / dler

25) Which acid is used in Storage Batteries which supply electrical energy? /

fRega sat 1 arqfd Fo arelt wRer deRAT F fFw s w1 39ANr gar @2
1. Nitric acid / Asfes 315t

2. Hydrochloric acid / gT8glerailiReh 31Fel

3. Acetic acid / Tdifea 3Fa

4. Sulphuric acid./ FeFgRe 3Fel

Correct Answer :-

+ Sulphuric acid./ HeFIR® 37Fel

26) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow
down the oxidation of oils and fats? /

as 3R o F T gU ey vard F corived A A a9 I’ qwr F siFdFor B A w1 F
Y 5w 3w F TRed fFar Jmar &2

1. C02
2. SO,
3. Ny

4, H2

Correct Answer :-



What is the common name of chemical NaHCO3? / THTAfal& NaHCO; &7
AT ATH F4T §?

1. Lime soda / I &1 HIST (TSH HIST)

2. Washing soda / [elT$ T HIsT (a1 HI)
3. Caustic soda / ST{€ceH HIST

4. Baking soda / @Tet &7 @51 (Sfder Aiem)

Correct Answer :-

. Baking soda / @TeY &7 HIST (dfhaT HIST)

?8) What is the name of the ion with the formula ClO37?

A ClO;~ Tl UF A & A F4T 87
1. Perchlorate / GReFINC

2. Hypochlorite / gI8UlFelRISc
3. Chlorate / FdRC

4. Chloride / FelR1SS

Correct Answer :-

. Chlorate / FeliRc

29) Which of the following is a disadvantage of improvised science lab
apparatus? / A&faf@a & & #la W arcwfos @A gaeremer 3uson
#r gifx &2

1. Easily available / 37T § 3Tl

2. Provides cheap alternative raw materials /QZR—T-T dohfedeh shed ATl YcTe
T &l

3. Have good educational value / 31<&] IFRED Hqed ETI
4. Not durable / &1 8T

Correct Answer :-



. Not durable / &1z FI'E?T

30) Which of the following abilities is not a characteristic of a scientific

problem solver? / fAwIfaf@a & & &l W a5 dofas aEw g8+
arer &1 faeyar a8 &2

1. Validation of results / GRUTHAT &7 FHTOHIOT
2. Isolate and control the variables / TR &l CC[W IR IRT &
3. Convergent thinking / 37fRaRT RiasT

4. Think aloud / 2 TaOR <Tad A

Correct Answer :-

. Convergent thinking / 37fHaRT fdeT

31) Which of the following is an example of inference? / FFfaf@a & @
FlT AT AT (55H) FT TF 3GEA0T 82

1. Cactus has modified leaves in the form of thorns. / heed H Hlel & T H
FATIR gfaar gidr &l

2. Tides are caused due to the moon’s'gravitation./ SdR=-1TCT TSHAT &
I[EcaThyUT & HROT il

3. Electrolysis of water produces hydrogen and oxygen gases on two different

electrodes. / STel T TIGIA TTECT &1 -3 FAFLIST R TSN
3R 3TFdST ET FT 3T AT B

4. Electrical appliances only work when supplied with electric current. / %a'qa
WWWWW%mﬁmm?mamﬁm
gl

Correct Answer :-

. Tides are caused due to the moon’s gravitation. / SAR-HTST TGHT &
T&cdlehy0T & HROT gl gl

32) Identify the lustrous non-metal. /

THFEGR T AT qgdre |



1. Phosphorous / BIAHBRA
2. Carbon / Tl

3. lodine / 3TA8IT

4. Sulphur / eI

Correct Answer :-

. lodine / TS

33) A pendulum makes 20 oscillations in 10 seconds, then the period and
frequency of oscillation are respectively /

TS Ugerd 10 AFs A 20 el FIAT &, af el A g AR afr waw: §
1.2 & 2 s hertz
2.2s & 72 hertz
3.%2 s & %2 hertz
4.% s & 2 hertz

Correct Answer :-

« 25 & 2 heriz

34) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are
non-essential. What are essential amino acids? /

UHfA® 9 & 3cde gl are TR 3P 20 YHR & g §1 s ¥ 9 Imaeas IR
11 HETF @S &1 ATaTF TR I+ FI4T 1S &2

1. It must come through diet/ 38 38R &I @&AT gl @1figw
2. It is made in our body / &7 fFAT gAR WX & gIaT &
3. It is more important than non-essential / Ig HATIIR & doliT HiAR H?F:l'ﬁl?ﬁ' g &

4. Essential for body / TRR & g siawas

Correct Answer :-

« It must come through diet/ 38 3gR &I g&dT gl AT

35) When we strike the membrane of a mridangam, the sound we hear is the
sound produced by the ./




9 & AGIHA A Preel W wER F § A 7 o eafy gaa § 9w _ CEIRY]
afda eafar 2

1. membrane only / hael Bicell
2. the drum stick / 37 &cdh
3. whole body of the instrument / $EEHE &1 T AT

4. body other than the membrane / @(vél & 3rarar Fe

Correct Answer :-

« whole body of the instrument/g}?ﬁﬁ? T IGEIE

36) If the secondary consumer receives 10 KJ of energy ,what would be the energy at
the level of producers ? /

gfe fgdiae Iuviedr 10 fFeaisa Sl UNe 41 3, @ IATGH! & TR W SHel fed-l grft?
1. 1KJ/ 1 fehraiteler

2. 1000 KJ / 1000 Tehellofel

3. 10,000 KJ / 10,000 feheflstet

4.100 KJ / 100 fehellsfer

Correct Answer :-

+ 1000 KJ / 1000 fereirsier

37) An electric current of 2A is flowing through a conductor for 10 minutes. What is the
net charge of the conductor?/

10 et & AT ve Waws & Aead & 2A $t RAgga URT vared @id §1 gawF
FT ey A e g2

1. 20C
2.1200C
3.0.02C

4.0C

Correct Answer :-



When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km.
When the watch shows 8.40 am, the odometer shows 8500km. What will be the speed of
thecar? /

gfe FATS gSt Ya§ & 8.10 Tol BT GHY SRl 3 3R 3T GHY d18 &7 3NSHler
8484 f¥ft. fearar 31 9l 9} Jag & 8.40 go &1 JHY @™ § 3iR shishfiex
8500 . feamar 8, @ #R @t ara fFha- g2

1. 64km/h / 64 TRaY/EeT
2.32km/h / 32 frdY/Eer
3. 16km/h / 16 foral/ger

4. 18km/h / 18 ToRaI/ger

Correct Answer :-

« 32km/h / 32 fRal/aer

39) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /
220V, 50Hz Tt &Y 110V SRt & ufvafda fear siar 81 St ot emgfv 2:
1.25Hz

2. 50 Hz

3.220 Hz

4.0 Hz

Correct Answer :-

e« OHz

40) Four different liquids such as mercury, water, soap solution and honey are kept in
four different vessels. Which of them will show greater temperature? /

TR STT-AET USIAT & ava 9 URT, UL, Jig faaa 3R g &) IR S-S gd1 | 3@l
ST 81 399 9§ Si9-91 ifYre arqHr= fearem?

1. Honey / 1@<

2. All will have the same temperature / &Y &I THATA dTIHTT 19T
3. Mercury / 9RT

4. Water / 9TiT

Correct Answer :-

« All will have the same temperature / T3 T HHTA dTIHTA ?I?'IT



41) Human ear can respond or sense the sound which has a frequency range /

A F1, tafd F JA A1 39 W fafrar & gwar ¢ S sngfr Soft @ @
1.2 Hz to 20 Hz / 2 §&T & 20 §¢ol ooh

2. 2Hz to 20 kHz / 2 §eoT & 20 foheligest o

3. 20 kHz to 20,000kHz / 20 fohreligest & 20,000 fheiigcst

4.20 Hz to 20 kHz / 20 g¢of & 20 Tohellgest do

Correct Answer :-

« 20 Hz to 20 kHz/ 20 gt & 20 Thellgest d&

42) Identify the component of the biosphere that is biotic /

Sauvsd & Sfi® gew I ugHaH B
1. Soil / 7&1

2. Air / g4l

3. Living Things / Sfifdd a¥qy

4. Water / Slel

Correct Answer :-

« Living Things / Sfifad awqd

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

Sitdl &1 S AT WHg Qe YTl $T HUCP A5l 62

ii. O, R, W,

iii. 7Sdl, Wa®, ﬁgT,ahmﬂ
iv. 91U, 919, 919, YWigan

1.iandiv/iGﬁTiv
2.iandii/i 3 ii



3. i and iv / iii 3R iv

Correct Answer :-
« i and iv / iii 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
IRafa® AR iR TURT gaiva & S U HT SR Ty fHa 8

1. Half minute/ 38T fA<ie

2.2 minutes / 2 TAde

3. 5 minutes / 5 f&ade

4.2 seconds /2 dhg

Correct Answer :-

« 2 minutes/2 fAsc

45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of
four trophic levels what is the energy available to the fourth trophic level? /

WIS (3MEIEIP) Sl & 10,000 fHelare ! FLaia @ o afe Wrer yaan #
IR Q¥ Pl (21h®) TR 1a ¢ df 91d Q¥ (Sithe) | &R U= Sell fpa- grdt 82

1. 1KJ
2. 1000KJ
3. 100KJ

4. 10KJ

Correct Answer :-

« 10KJ

46) Technology should be used as a by the teacher for teaching-

learning process. / fRreor-arferm m%ﬁw Th ree & grRT___
& 0§ MRt &1 Suar e fear s anfel

1.tool / 3IYHIUT (Cel)

2. subject / fawg




3. substitute for teaching / fRreor & %’Q YT

4. driver / dlcich (QIdX)

Correct Answer :-

+ tool / 3UHITT (&)

47) During World Wars, massive industrial progress occurred. This shows

that: / faY T & R, 98 UM R e wifa g31 I8 21t g f:

1. Science responds to the needs of society. / fa<ileT, THATST FI 3T QAT ahr
gfaferar &ar gl

2. Science responds to the desires of society. / fa=Te, AT FI TSI Hr
gfafsar &ar gl

3. Science works for the benefit of society. / ﬁ?‘l’l?l', AT & o & T &
T gl

4. Science brings progress to society only. / fa=iTel, Shdel AT H Y3Ifd oTdT gl

Correct Answer :-

. Science responds to the needs of society. / T@1Tal) THTST I IHTARARATIT T
gfafsear &ar gl

48) A law describes a/an .1 U® g9, T T qUI Bl
s

1. set of interconnected principles / ITEIT ﬁlﬁﬁﬂ?ﬁ %I 4T
2. abstract idea / 3-1?1?5[ foar

3. single phenomenon / Tehel YTAT

4. set of phenomenon / YcHl & Uc

Correct Answer :-

. single phenomenon / Tehel YT

49) Which of the place is more safe at the time of lightning? /
afsa & www i @ s IfNw geiEa 82



1. Open fields / EJDFT SE]
2. Open vehicles / TgFT digel

3. Inside a vehicle with all windows and doors shut / THT @E%QT 3R E\TEHGT d¢ arer CIRGE
& AR

4. Elevated place / 3dT Tl

Correct Answer :-

« Inside a vehicle with all windows and doors shut / T T@sfRar 3R cydrel §¢ drel dlged
& AR

50) Using a science park visit is an example of : / T UTdh H AT BT,
39 ST HT TP 318 0T &

1. Experimental learning / 9raifaleh 31f&aTa

2. Collaborative learning / TgARMcHAS 3TTAITH

3. Analogy strategy learning / TTE2T 0T 3TTETH
4. Rote learning / e 38T

Correct Answer :-

. Experimental learning / YTl faTehe 3R

51) Formulating policies, monitoring the effects of policies, enforcing
compliance with the policies, demonstrating accountability, making

comparisons and monitoring progress towards goals are conducted at: / Aifaar
qetell, Afaat & yormal 1 TAIRr e, Afeat #1 separerer @y F,
SaTaee! YEid HIT, gelelt T AR Feat F e garfea Fr e
T FBF W IMAST FF o &

1. District Levels only / shadel foell TaT W
2. All of the above / 3'C|'{17=|'?f gAY
3. National Levels only / 3hael TSI TRT W

4. State Levels only / hddl T T W

Correct Answer :-

- All of the above / 3ugerd HefY



52) An advanced technique to improve thinking and problem solving-skills
comprises of decomposition, i.e. breaking large problems into small units, is

known as: / TTd 3R THAT B! Yo & HINA A GUR HI1 & T, T
3I9d db-1e § faae gaRflRE g gl f Sid geeal & 9t ga=ansi &1
a1, 39 = g1 9T 8

1. Context-Based Learning/ GcaT-3menRa 31feere
2. Computational Thinking/  3TTRereldTcH® IdeT
3. Crossover Learning / p1g3iax 319

4. Embodied Learning / dieaitgd 3feRme

Correct Answer :-

. Computational Thinking/ 31TRedlaTcHs Ria

53) Evaluation can be done for all of the following objectives, Except: /

& o, Fafafaa gt sezal & forw geuie= forar s 9oar g1
1. To know about the learning gaps in students. / STAT & JTIH HRTell & TR
H STelel
2. To identify the students who requif€ remediation. /3T STl I gdlel el
¢ 39aR $r IMTTSRAT &

3. To get evidences to know the extent of a student’s learning. / ot &= & siferm

&1 a1 S & o gHTor g A
4. To give performance feedback to students. / I & UerH W ufafear &

Correct Answer :-

. To identify the students who require remediation. / 3eT BTAl el YgdTeT el
St 3TaR &1 39— hdr §

54) Which of the following should a teacher avoid while encouraging students

to develop problem solving skills? / THXT A ®A & P B! fapfd
wmwﬁmm@mwﬁmﬁma
GOC| ?

1. Provide prescriptive hints to students. / BTAl &I fAG2McHSP Thd TG IATI




2. Encourage students to question. / BTAI &l YT el & TolT Wcariegd Tl

3. Design various types of problems. / JALTAT & AT TR A BAs
|

4. Design problems to generate cognitive conflict. / HaTellcH® TG 3c9es] el
& foT gAEaT fBaga S|

Correct Answer :-

. Provide prescriptive hints to students. / ©Tal I fHc2McHdd Hohd TGl el

55) Elephantiasis is caused by: /
Hrogig A&7 & FROT g1 ¢
1. Worms / I8

2. Mosquito / AT

3. Protozoa / WCISIT3T

4. Bacteria / SSFEIRAT

Correct Answer :-

« Worms / $Is

56) Megha scores well in physics. Sneha is equally good at the subject but is
unable to score well in school. She is most probably lacking in JJHET
sifadhY A 3= 31 wred frwl e Y =9 vy 7 sy 3aA & = &
afe RgameT 7 3d 3% arod FA 7 39AYS 71 WA qF H
g% FHAAN B

1. Conceptual knowledge / Thedellcaeh Tl

2. Procedural knowledge / IfhaTcaesh 3T

3. Factual knowledge / d<dTcHS ATeT

4. Metacognitive knowledge / ACTHATATCHS AT

Correct Answer :-

. Metacognitive knowledge / HETHATIcHE Te]



57) Which of the following statements reflect a shift in pedagogy after
implementation of NCF-2005? / TsTHlU®%-2005 & FETeads & AT

Afaf@d & @ ST 91 Ty RNemeneT & scaT F ATET &2

1. Teaching should focus on specific disciplines./ fere7oT & faferse fawar ox
EATA higd AT ART

2. Assessment should be continuous. / 3Tehold [ gl ﬂli%ﬂ |

3. The teacher guides and monitors the class. / T8 eI T AR 3R
ferraTor S &

4. Written tests are the only method of assessment./ o @a adrem , 3TTeholeT hr
wHATT fafdr g

Correct Answer :-

. Assessment should be continuous. / 3Teholed [ glo_'ll ?—Hi%Q |

58) Which of the following is false about audio tapes as teaching aids? /
ffaf@a & @ Fia Raor Ay & T 7 FEIT T & @9T #H 99
e

1. They canbe reproduced easily. / o6 3Rl 9. T foham ST HohdT &
2. They are portable. / I qgareg (ESTT) BT 2

3. They are expensive. / @ Hgdl gld g

4. They can help visually impaired students. / @ TTecaTSd BT $I FGE
gahd gl
Correct Answer :-

« They are expensive. / d #Ag g &1

59) Which one of the following Organic acids is present in Spinach? /
fefaf@a & & #la a1 sl 3w, s & am@=r STar

1. Tartaric acid. / eRER® 3HFdT|

2. Malic acid. / Ao 31|

3. Citric acid. / @T8fea 31|



4. Oxalic acid. / 3iTFATToIeh 31FT|

Correct Answer :-

« Oxalic acid. / 3iTFaTfolh 31FcT|

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /

Al T vF B ¢, & 3¥ TR F 3R IS WFR F G A waA
F1?

1. Particles in sponge are closely packed. / TIST o U7 THITY ¢ H g &l

2. Sponge is a pseudo solid. / T Th OcH T g
3. Sponge is a super cooled liquid. / TI<T Th 3fa-efide ga gl

4. Sponge has small holes with air trapped in them. / TS & oie-oiec gl & gdr e ?I?ﬁ'
gl

Correct Answer :-

« Sponge has small holes with air trapped in them. / TIST & Bie-Bic Bar & gar var gidl
el



